EARAROBEEIERT — 2 N— IBISH —F

201855840 (£) 2mAdtE5H

LNl SR —fik C3

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M THE

[A&£] 1 7 :900,000  ~ 23&:360,000  ~ 33&:225,000 W ~ 43 :135000H 5 & :90,000 M

B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
1zl 7| EE>T5v 7y it o4 ﬁ%gn‘c% 1:(4_5).8 2-2-2-1 | 39.6| — 2 (4_316) g%gg G
Rid7—3UT> BixAYavrF(n = B4
ol1]q| vy | 46 57«1;?(3)IE§ 1:(477).2 3-4-4-3 | 40.9| — 1 (4_9; fﬂé?ﬁ (k)
R:TF—F4FAF =YL BELF—TTy Y z:Lre
fy KRS o —h— # o7 | RES 1:47.3 4-5-5-5 | 40.6 | — 4 499 | EA1ENE (hAF8)
‘2 ;—J;:;-‘/I\ﬁ;ill\jlj\ B:EAHIEX 0 @ ) Ejggg
¢ RS o4 | EHBX 1:47.4 5-3-3-4 | 41.1| — 8 | 485 |MMEE (#A1E)
5 3 7—_ . 1= /, - i 5 sﬁﬁﬁtﬁrﬂ (11:417/.27) 7-7-7-8 | 40.6| — 5 :1:128) Ui(;jég ;gg:
R:7H0 BiIULE YU A LHS
s 4 /\‘yjj‘?ﬁu_l, Ho4 g%_ﬂgizﬂl 1:(417).9 8886 |40.8| — | 6 (4_233) u%;iégg(gg)
RiFLITIANZ N Bi¥vyavFAF— HRXEH RUMI 77 —4
dc b T/ (NERR] i 6 g{'&ﬁ 1( 74{:? 9-9-9-9 | 40.5| — 3 (4353) gg;ﬁ(ﬁ (#at8)
R:TFATLXEAL B A R—LAX=T [AY:Eie ]
glglglV .y7(<f_ K # 7 | BLRE 1:(469).1 6-6-67 |42.2| — | 9 ;1_323) ﬁgé (1)
SLTIFNTL2 B:ZXbO-L> BAPREESHEE RS
ETUAN — 4 4 | WRER 1:49.1 1-1-1-2 | 43.3| — 7 41 | EEE (1)
’18° Z;;\—T\*—j? B:7L5y b e 72 € |15
@ 1 —F—EBIE
13=3r= 9,7,1,2,5,8,3,4,6
2o =7r= 9,7,5,1,2,8,3,4,6
Y§=3r= 9,7,5,1,2,8,3,4,6
AT =gr= 7,9,1,5,2,4,8,3,6
[ F/N=5
B R 7 460/ 74K 1-7 130M P & 1-7 210 & 1-2-7 7504
% B 7 120 2-7 520M - 7-1 1,630MH 3E 7-1-2 5,930M
1 100 1-2 1704 B = 1-7 240M
2 180M BB 7-1 1,130M

ABICOVWTRDTEEERROODE. TR LIV,




